HX—TIKk2 (A48

SHM3FE8AHN

RECAETXRA/KE MERKEHARBERREE

PRKEEfE 8:30

KEHBER (BXIFEKE 2KHF (EK )
=} Xz [im | KE | & E| pH [TILAY EE H¥E | RIEY £ EQZ2NE )
E REM | 44 Hy
C C |5 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 i 26.0 | 23.7 11.8 7.85

2 i 25.0 | 25.1 8.2 8.02

3 = 26.5 24.8 10.4 | 7.87 54.8 66.9 146 6.0 0.54 <0.02
4 i 25.0 | 25.0 5.3 7.88

5 i 27.0 | 25.5 5.4 7.90

6 i 26.0 | 25.7 4.8 7.96

7 i 25.0 | 24.9 5.8 7.91

8 [55] 25.0 | 24.4 11.0 | 7.93

9 [55] 27.0 | 25.3 5.9 7.81

10 i 29.0 | 23.2| 261.0| 7.77

11 i 21.5 23.6 45.3 1.72

12 = 26.0 | 23.3 23.6 7.88

13 [55] 24.0 | 22.5 28.4 | 7.81

14 [55] 24.5 21.4 ) 113.0 | 7.72

15 [55] 26.5 21.9 | 570.0 | 7.91

16 = 21.0 | 20.4| 475.0 | 8.02

17 [55] 21.5 19.9 | 341.0 | 7.82

18 = 26.5 21.8 | 355.0 | 7.82 39.7 56. 1 789 2.1 ] 25.09 0.85
19 [55] 23.5 20.2 | 396.0 | 7.85

20 i 25.5 20.6 | 318.0 | 7.86

21 [55] 22.5 19.6 | 139.0 | 7.77

22 = 24.0 19.4 99.6 7.78

23 = 25.5 20.8 72.4 | 1.75

24 = 24.0 19.7 80.4 | 7.82

25 = 25.5 20.3 51.5 7.80

26 i 27.4 | 20.6 38.7 7.80

217 i 25.5 21.9 29.5 7.83

28 i 25.5 22.8 21.2 7.83

29 i 28.0 | 23.0 22.9 7.81

30 i 24.5 22.4 17.1 7.83

31 = 26.5 23.6 14.6 7.87

Ty 25.4 | 22.5| 115.5 7.85 | 47.2 61.5 468 4.1 12.82 0.44
=E 29.0 | 25.7 | 570.0 | 8.02 54.8 66.9 789 6.0 [ 25.09 0.85
=K 21.0 19.4 4.8 1.72 39.7 56. 1 146 2.1 0.54 <0.02




HX—TIKk2 (A48

SHM3FE8AHN

RECAETXRA/KE MERKEHARBERREE

PRKEEfE 8:30

KEHBER (BXIRKE Kt (GFK )
=} Xz [im | KE | & E| pH [TILAY EE H¥E | RIEY £ EQZ2NE )
E REM | 44 Hy
C C |5 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 i 260 | 24.0 1.4 7.69

2 i 25.0 | 24.6 1.3 7.67

3 = 26.5 25.3 0.6 7.76 50. 6 66. 7 131 5.8 0.05 <0.02
4 i 25.0 | 25.1 1.2 7.70

5 i 271.0 | 25.4 1.2 7.84

6 i 26.0 | 25.7 1.1 7.76

7 i 25.0 | 25.5 1.0 7.77

8 [55] 25.0 | 24.9 1.3 7.80

9 [55] 27.0 | 25.0 1.0 7.75

10 i 29.0 | 24.5 2.1 7.53

11 i 21.5 24.0 1.0 | 7.46

12 = 26.0 | 23.5 0.9 7.46

13 [55] 24.0 | 23.4 0.6 7.55

14 [55] 24.5 22.6 0.8 7.53

15 [55] 26.5 22.17 0.7 7.29

16 = 21.0 [ 21.0 1.4 7.28

17 [55] 21.5 20.5 1.5 7.36

18 = 26.5 22.1 1.0 7.36 34.5 | 49.3 91 8.2 0.02 <0.02
19 [55] 23.5 21.0 0.5 7.22

20 i 25.5 20.9 0.8 7.30

21 [55] 22.5 20.6 1.1 7.33

22 = 24.0 | 20.2 0.8 7.35

23 = 25.5 21.0 0.9 7.48

24 = 24.0 | 20.5 0.9 7.32

25 = 25.5 21.5 0.8 7.34

26 i 2.4 1 21.0 1.0 7.37

217 i 25.5 21.17 1.0 7.4

28 i 25.5 22.9 0.8 7.45

29 i 28.0 | 23.4 0.7 7.50

30 i 24.5 22.8 0.5 7.51

31 = 26.5 23.9 0.6 7.60

Ty 254 22.9 1.0 7.51 42.6 58.0 111 7.0 0.03 <0.02
=E 20.0 | 25.7 2.1 7.84 | 50.6 66. 7 131 8.2 0.05 <0.02
=K 21.0 | 20.2 0.5 1.22 34.5 | 49.3 91 5.8 0.02 <0.02




